
ServoCity 639018 Assortment Pack – 
Parts List 
 

 

Quantity Part number Description 

2 585404 39.1 mm aluminium beam 

2 585406 58.6 mm aluminium beam 

2 585408 78.2 mm aluminium beam 

2 585410 97.7 mm aluminium beam 

2 585412 117.3 mm aluminium beam 

2 585416 156.4 mm aluminium beam 

2 585420 195.5 mm aluminium beam 

2 585423 312.9 mm aluminium beam 

1 585663 5 hole plastic beam 

1 585664 7 hole plastic beam 

1 585666 9 hole plastic beam 

1 585668 11 hole plastic beam 

1 585670 13 hole plastic beam 

1 585672 15 hole plastic beam 

1 585674 17 hole plastic beam 

1 585676 19 hole plastic beam 

1 585678 21 hole plastic beam 

1 585680 23 hole plastic beam 

1 585682 25 hole plastic beam 

1 585684 29 hole plastic beam 

1 585686 33 hole plastic beam 

1 585376 9.5 mm aluminium mini channel 

1 585380 39.1 mm aluminium mini channel 

1 585382 58.6 mm aluminium mini channel 

1 585384 78.2 mm aluminium mini channel 

1 585386 97.7 mm aluminium mini channel 

1 585388 117.3 mm aluminium mini channel 

1 585392 156.4 mm aluminium mini channel 

1 585396 195.5 mm aluminium mini channel 

1 585399 312.9 mm aluminium mini channel 

1 545400 90° hub to hub mount 

1 545404 90° hub to hub mount B 

1 545412 90° hub to hub mount A 

1 545416 45° hub to hub mount 

1 545440 Hub adaptor A 

4 585403 Beam attachment block A 

24 585474 Single screw plate 

1 585490 Beam crossover adaptor A  

25 632106 6-32 x 6.3 mm zinc-plated socket head screw 

25 632110 6-32 x 9.5 mm zinc-plated socket head screw 

25 632114 6-32 x 12.7 mm zinc-plated socket head screw 

25 632120 6-32 x 19 mm zinc-plated socket head screw 



25 632144 #6 washer 

25 632142 6-32 Nyloc nut 

4 633119 6.3 x 6.35 mm standoff 

4 585600 Beam attachment block B 

2 585602 Beam bracket A 

2 585604 Beam bracket B 

2 585606 Beam bracket C 

2 585608 Beam bracket D 

2 585610 Beam bracket E 

2 585612 Beam bracket F 

2 585616 Beam bracket H 

2 585618 Beam bracket I 

2 585620 Beam bracket J 

2 585622 Beam bracket K 

2 585624 Beam bracket L 

2 585626 Beam bracket M 

2 585630 Beam bracket N 

 


